
����� 3 
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 �������	��
�	��
��������� ������	���� 	���	�������������� 	��� ����!�"������  
���#�������$��	�������%&�'�����(�!���())��$��*���� 
 


���
�������������� 

 
 	��
�	����������+!�	�������������� 2 ��!�-# �.� 
 
 1. �������1�-��  (Primary Data) *)�+�		�����-��%"<��#�'��#����#�'(��� ��%��)������  
=)(
>�	���?������+�!+� (Purposive Sampling) �JK�!��	#����#�'(�>��*#( 
�>�������(?)�?)
���)��" >������� 10.00-18.00 �. �!������).��KO
+ 	�(� ��!P������ K.
. 2549  ���)���
	�?��$���(���K +��%�+�	�T $ ��	#����#�'(�>��*#(#�'�) �#����#����#�'(���)������$����$� �U 
K.
. 2546-2549  K������+�������	#����#�'(��J��'(��!��%  1,126,528  ��$���U ($����#�' 1) 
�
	�������%�����)���	�?��$���(���#�'����!����!����$���#����	�?����!>�	�=)(
>�$����
�T $ �?��$���(������ Arkin ��!Colton (1963: 151-152 ����T��
�	���  > �K�
", 2532: 14) % 
�!)�������>.'���'����(�! 95 *)�	�?��$���(���#�'+�������!>�	�$����$� 500,000 ������*�+����� 
322  $���(��� ($����#�' 2) 
 
 ������T��
�	��
�	��������	����  2  ����  �.� 

 
����#�' 1  �������T���	�'(�	����	�%!#���
��1	 +��!�����=)(#�'�*����	�?��$���(���  

#�'�) �#����#����#�'(��� ��%��)������  &�'�*)��	�  ��$#�'K�	��
�(  �K
  ��(?  �T��-�K  ��>�K  
�!)��	��
�	������?)  ��!��(*)��J��'($���).��    

 
 ����#�' 2  �������T���	�'(�	����	�%!	����������	 +	������#��	�� ��!���������!  
���	�?��$���(���#�'��#����#�'(��� ��%��)������  &�'�*)��	�  ��$T?��!���"���	����K�	<�����.�
��������	 +	������#��	�������)������  ����T�'
�	����#����#�'(�  K���!��!���
>�+��(  
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�	���) �#����#����#�'(���)������   ���������!
�	��������?���!K�]����)������  
�K.'�
>��������#��
�	��K�]��������?���)������
��$��	������$���	�����	�?��$���(���#�'
�) �#����#����#�'(�
����	#�'�?) 
 
�������� 2  �T $ 	���?��$���(���	�%�#���+�������!>�	�   

(����(: ��) 
+�������!>�	�  

(��) 
�����>.'���'� 
���(�! 99 

�����>.'���'� 
���(�! 98 

�����>.'���'� 
���(�! 97 

�����>.'���'� 
���(�! 95  

500,000 ����*�  7,933 2,009 895 322 
100,000  7,465 1,977 888 322 
 50,000  6,945 1,939 881 321 
 20,000  5,749 1,832 858 318 
 10,000  4,465 1,678 823 313 
  5,000  - 1,437 760 303 
 4,000  - 1,341 732 299 
 3,000  - 1,206 690 291 
 2,000  - - 619 278 
 1,000  - - 473 244 

#�'��: Arkin and Colton (1963: 151-152 ����T��
�	���  > �K�
", 2532: 14) 
 
 2.  ������#?$ (-��  (Secondary Data) ����	��������������+�	����(���$��� a 
��!	��)��(������#�'*)�+�		��#����#�'(�������!�#
*#( *)��	� ������#��)����T $ ��	#����#�'(�
#�'��#����#�'(���)������ ������#�'*)�+�	�#
�����.������?� *)��	� ������#��)����-�K#�'�*�  
������#��)����-�K��)����#���
��1	 +��!�����  ������#��)���(?#P
��$�"	��K�]����!
����!��%	��������?�K.��#�'��)������  ��!������+�		��
�	����(���#��� >�	����!
� #(�� K�P"#��
��*)�������#��)����������
�	����!�� �������#�����#��	�� 
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����������������� 

  
 
�	��
�	����!� ����!�"������  �K.'�
����)�����	����$T?��!���"
�	��
�	��+!#��	��
� ����!�"������)����� 
    
 1. 	��
�	���K.'�$����$T?��!���"���#�' 1 
�	��
�	���-�K�
��1	 +����� ��!	��
�� ���	��+�)	��#��K(�	�P���>�$ ��!� '���)���������)������+�����)>��?�� +!
>�������#�'
������+�	��	��� ������ ������� ���� +�( ��!� '�K �K"$���a ���T���<�K�]��(?#P
��$�"
�#
�������?���#��	��
�	��T���-�K#�'�*� �-�K�
��1	 +��!����� ���T��	���� ���+�)	��
#��K(�	�P���>�$ ��!� '���)���������)������ =)(�������<�	��
�	��
��> �K��%�� 
 
 2. 	��
�	���K.'�$����$T?��!���"���#�'  2 
�	��
�	���T��-�K#��)����
��1	 +��!
����������	#����#�'(�#�'���#�'(�K.��#�'��)������ +�����)>��?�� +!
>�������+�	������T����
K +��%��K.'�
�	�� �-�K#�'�*�#���
��1	 +��!��������	�?��$���(���#�'�) �#����#����#�'(�   
��)������  &�'�*)��	�  �K
  ��(? �T��-�K �!)��	��
�	��  ��>�K #�'K�	��
�( ��!��	�%!	��
�) �#����(����)������  &�'�+!���������������!	��	��� ����!�"
�������$�������(�! 
 
 3. 	��
�	���K.'�$����$T?��!���"���#�'  3 
�	����!�� �������#�����#��	�����    
��)������ +�����)>��?�� +!
>�������+�	������T����#��	����!�� �������#�����#��	��
�� ��%��)������  +�����)>��?��  )��(� P���!�� ����
>�+��(
�	���) �#�����������$ (Zonal 
Travel Cost Method) 	����!�� ��������������K�
+#�'*)����+�		������*�#����#�'(�(��          
��)������ =)(��!�� �+�	����K�
+�����	 ������	#����#�'(�)��(	�������%K.��#�'
$�����
�?����" &�'�+!����$���#����������<���!=(>�"#��)������#��	�������)������ &�'���
����$��
�	�������%)����� 
   
  3.1  ������$	��#����#�'(���	���� 10 ��$
���	�%!������������?�K.��#�'+�����)
$���a 
���!�#
*#( =)(
��K.��#�'��)����������
��("	������	��#����#�'(� 
>��!(!+�	K.��#�'
��������#��	��K +��%�����	���� ��%#�'$������#�'���	������-���.��#�'�(��
���
��  20  	 =���$�
�������'���$	���) �#�� 
�	����+�������!>�	�� )+�	+�������!>�	�
��$��!��$	��
�	���� )��-�K#�' 4  
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�� ��� 4  	��������$#�'K�	��
�(���<����#����#�'(� 
#�'��: 	��#������������!#
*#( (2550) 
 
 
��$��!��$��!	��*�)��(����-�
�+�����)$���a  ��!+�������!>�	�  )��$����#�' 3 
 
 
 
 
 

>��?�� 

J!�> ��#�� 

�!(�� 
+��#�?�� 

$��) 

�K>��?�� 

��>�?�� 

5 6 

2 
1 

4 
3 

7 
8 

A 

B 

C 

10 
	�f+��?�� 

9 
���+���?�� 

��!�	�� 

A = ��$#�'   1   B = ��$#�' 2   C =   ��$#�'   3 

NNNN

1.   ��?#�������  6.   ��#�?�� 
2.   ��?#�����   7.   �#?�P��� 
3.   	�?��#K������  8.   �����(	 
4.   ��?#����	��  9.   �?K��%�?�� 
5.   ����1�   10. K�!���
���(?P(� 
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�������� 3  ��$#�'K�	
�	��
�	����!+�������!>�	� 
 
��$
#�' 

�!(!#�� 
(	 =���$�) 

��!	��)��( ��!>�	� 
(��) 

1 0 - 20 ����-�������� +�����)>��?�� 362,741 
2 21 i 40 ����-�
����>� ����-�K��#�� ����-�K���� �� +�����)>��?��  

����-������� +�����)��?#����	�� 
����-�����!	� +�����)J!�> ��#��   538,799 

3 41 i 60  ����-�����!�?�  ����-�����
�f�  +�����)>��?��  
����-�����=KP j  ����-���.��J!�> ��#��  +�����)J!�> ��#��   
����-�������P�  ����-����K��  +�����)��?#����	��  
��$��)	�!���  +�����)	�?��#K������ 774,779 

4 61 i 80    ����-�������������(� ����-�K�������� +�����)J!�> ��#��  
��$�����$( ��$�����(�� ��$) ��)� ��$���	!�k 
��$����� ��$�����	  ��$��'�	?��  ��$��!��
  ��$K�!=���  
��$����?�� ��$��>�#�� ��$��)K���� ��$���#������ 
��$��]�� ��$�������  ��$�!K�����  ��$��#�   
��$����+�	 ��$���(���� +�����)	�?��#K������ 2,100,604 

5 81 i 100  ����-���$���  +�����)>��?��   
����-���.���!(��  +�����)�!(��   
����-�K�!��!�)�  ����-���.����?#����	�� 
+�����)��?#����	��  
����-������		�  +�����)�#?�P���   
����-����	��(  ����-���.����#�?��  +�����)��#�?��  
��$+$?+�	� ��$+��#�� ��$)����.�� ��$)?� $ ��$$� '�>�� 
��$#?����? ��$P��?�� ��$���	�	���(  ��$���	�	
�f�   
��$����?��#�(�  ��$������ ��$��������� ��$�����  
��$���&.'� ��$������ ��$�l������  ��$Kf�*#  
��$-����+� f  ��$���m�"���%! ��$��(*�� ��$�������   
+�����)	�?��#K������ 4,449,074 
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�������� 3  ($��) 
 
��$
#�' 

�!(!#�� 
(	 =���$�) 

��!	��)��( ��!>�	� 
(��) 

6 101 i 120 ����-���������  ����-�P�f�?��  ����-���.���#?�P��� 
+�����)�#?�P��� 
����-����
�f�  ����-�������#��  +�����)��#�?��  
����-���.����?#�����  +�����)��?#�����   
����-����K���  +�����)����1�  1,148,132 

7 121 i 140  ����-�������.�  ����-������	�"  +�����)�#?�P���   
����-�������(  +�����)K�!���
���(?P(�   
����-�	� �#�"�?��  +�����)���+���?��   
����-���	K��  +�����)�����(	 325,631 

8 141 i 160  ����-���.���(?P(�  ����-�����!���  
+�����)K�!���
���(?P(�  175,908 

9 161 i 180   ����-�� ����)�  ����-��	����(  +�����)��!�?��   
����-���.���?K��%�?��  +�����)�?K��%�?�� 287,236 

10 ��		���  181 ��!	��)��(����-�$���a #�'���.�
���!�#
*#( 52,655,802 
  �����!>�	�#���� �� 62,828,706 
#�'��:  	��#������������!�#
*#( (2550) 
 
  3.2  �����%����$��	����#����#�'(���)������
��$��!��$	��#����#�'(� �$�
��.'��+�	��!>�	��$��!��$��*���#��	�� +��$����������
��������$��	����#����#�'(�
��$��!��$
$����!>�	� 1,000 �� 
����� 1 �U )����	�� (10) 
 
     Qi   =  ((Vi / n) * N * 1,000) / Pi    (10) 
 

=)(	����)
�� 
 Qi  ���(T��  ��$��	����#����#�'(���)�����������!>�	�
���$ i    
      $����!>�	� 1,000 ��
����� 1 �U (�����$���U)   
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 Vi  ���(T��  +�����$���(�����	#����#�'(�+�	��$  i   
 n  ���(T��  ���)	�?��$���(���#�����) 322 $���(��� 
 N  ���(T��  +�����<����#����#�'(���)�������J��'( 1,126,528 ��$���U 
 Pi  ���(T��  +�������!>�	�
���$ i 
  i  ���(T��  ��$#�'�������	#����#�'(� ( i  = 1, 2, 3,s,10) 
 
  3.3  ���������K��P"�!������t++�(#���
��1	 +  �����  ��!��$��	����#����#�'(�=)(

>�������#�'��������J��'(  ��.����1��� (�  ����$��!��$$��#�'+����	*��)����� 
 
     Qi  = ƒ(TCi, Yi, Ai, Ei,  Si)     (11) 
       
 =)(	����)
�� 

Qi  ���(T��  ��$��	����#����#�'(���)�����������!>�	�
���$ i   
     $����!>�	� 1,000 ��
����� 1 �U (�����/ �U)    
TCi ���(T��  ����J��'(������
>�+��(#�����)&�'�*)��	� ���
>�+��(
�	���) �#�� 

#���*���!	���   ��������  ������.'��).'�  ���#�'K�	  ������#�'�!��	
� )������(���� =)(� ) 1/3 �����$�����+���������#�'��	#����#�'(�
*)���� (���� #(���(�?=�#�(P����P ��>, 2543) ��!������)�$��)
�.'�a  #�'�	 )+�		��
>�+��(�K.'�	��#����#�'(��� ��%��)������
��������$����	#����#�'(� (��#/ ��)   

Yi  ���(T��  ����J��'(����!)����(*)�$���).�������	#����#�'(�#�����) 
     
���$ i  #�'�) �#������)������ 

 Ai  ���(T��  ����J��'(�����(?�����	#����#�'(�#�����)
���$ i #�'�) �#�� 
      ��)������ 

Ei  ���(T��  ����J��'(�!)��	��
�	�������	#����#�'(�#�����)
���$ i #�' 
�) �#������)������ 	����)=)(
>��!(!�����U#�'
�	�� &�'�
	��
�	��$'��	�����.��#�(��#����P(�
�	��$��$��
������#��	��   
9 �U ��P(�
�	��$�����(/ ��?�� ff�
������#��	�� 12 �U 
�� ff�$��
������#��	�� 16  �U ��!���	����� ff�$��
������#��	��  
18  �U 
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 Si   ���(T��  �K
���	�?��$���(���#�'�) �#������)������ =)(#�' 
    S = 0   T�������K
�f � ��! S = 1 T�������K
>�( 
 

 	��� ����!�"���������K��P"�!�������$��	����#����#�'(�	��$������$��!$����.'�$�����
�.'�T�		����)
����#�'  
>�� P�	��	�����������(#�'�?) (Least Squares Method) 
���������	��
T)T�(���K�?��% (Multiple Regression) =)(K +��%�����T $ $���a �>�� �����!� #P j	��$�)� �
+ 
(Coefficient of Determination: R2) ��!	��#)����������K��P"�!�����$����� (t-test) 

 
  3.4  	����!�� �������)������#��	�������)������ =)(
>�� P���!�� ����
>�+��(
�
	���) �#�����������$ (ZTCM) =)(�����	���?����"&�'���)��������K��P"�!�������$��	��
��#����#�'(�$����!>�	� 1,000 �� ��!$������ ��!$���a ����������%�������	 �<���� =-����
�$��!��$
�>�������#�'#��	��
�	�� +�	�������K��P"�����	�������T�����
>�+��(����?)       
TC max  ��.����
>�+��(����?)�����%�����
>�+��(
�	���) �#������?) (Choke Price)=)(	��    
�#���� Q �#��	�� 0 ��
���	���?����"��!�����%�����
>�+��(����?)  
 
  3.5  �����%�����	 ����<����#����#�'(���)������ ��.�������#�����#��	�����
��)������=)(�J��'(
��$��!��$ (CSi) +�	}t�	">�'��?����"	����#����#�'(���)������ =)(	��
��<����)��(� P�	���� K��P"   �K.'���K.��#�'
$������?����"�!��������
>�+��(�J��'(����$��!��$T��
���
>�+��(
�	���) �#������?) =)( 
     
                                 TCmax 

      CSi = ∫ f (Qi) dTCi    (12) 
                                      TCi 
 
 +�	�����	 �<���� =-������T������������	 �<���� =-�#�����)
���$ (Zonal Annual 
Consumer Surplus: CSZi ) $���U =)( = CSi x Pi  =)( Pi  �.� +�������!>�	�
���$ i  +�	����
����������%��<������������	 ����<���� =-�#�����)+�	#?	��$#�'#��	��
�	��
�>�������       
1  �U =)(#�' 
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          n 

     ACST  = ∑ CSZi    (13) 
               i=1 

=)(	����)
�� 
 ACST  ���(T��  ������#�����#��	�������)������ +�����)>��?�� (��#/ �U) 


